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Time :3 Hours - B . | Maximum Marks : 100
Instructions to Candidates : ' ' S S

‘Answer all Sections.

SECTION -A

2

I | Answer any TEN of the following. Each question carries 2 marks. o | (10x2=20)
1) IfA={2,3,4,5) and B={0,1,2,3} find 4nB. |
o 2)‘ Define an Equivalen@ tion? |
3) Coﬁstrugzt truth table' for &%
 4) Definea Scalar Matrix with an exa{n@ S
5) »’-I‘fA 3 2] ap=|’? fdzA'3By' N
=| and B= in 3B.
v i B C-I) e
6) Staté Caley -»'H_amilton'.Theorem.
"7)  Iflog,64=x, then find x. =
8) Find‘nwifn, =n_.
9 Deﬁneagroup. o
10) If a=2i+3j-4k, b=3i~4j-5k find |a+|.
11) Fihd the 'di'stance‘ between the points 4(2,-3) and"B(4,45).
12) Find the equation of the line whose y- - intercept is -2 and slope is =.
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1L Answer any SIX of the followmg Each quesuon carries 5 marks o (6%5=30)

14) - Show that. f:R— R is deﬁned by f (x) 4x+5 is both one - one and onto.
15) Prove that [p /\(qu)] © [(p/\q)v(p /\r)] is a tautology

7.16) Prove that ~(p<~)q)= ~ [(p-—> Q)/\(q—> P)]

17 Write the Converse Inverse and Contraposrtrve of “If two mtegers are equal then
their squares are equal”

_ : 3 -3 4§
18) ,Flnd the inverse of the matrlx 2 '—3 4.
| o 0 -1 1

| 19) Solve the eqnations’gy@ﬁ)ﬁCramer’;S rule 3x—y+22=13,_ 2x%y;z=3; '
. x43y-5z=-8. - </@ o ST T
| o o "Eq r};’ R
20) Verlfy the Caley Hamllton Theorem for the atrxx 7 3|

o  SECTION-C | L
J III. Answer any SIX SIX of the following. Each questlon carries 5 marks. . - (6%5=30)

21 If log(a;b):-—(logaﬂogb) Show that a +b2 —27ab

- 22) In how many ways the letters of the word “EVALUATE” l:e arranged SO that all
vowels are together. - .
23) 1f 2n, in,, =11:1 find ‘n’.

'24) Show that the set of all cubeth roots of unity fo’mi a group under multiplicatiOn. _

25) Show that H ={0,2,4} is a subgroup of the group (G,+6) where G={0,1,2,3,4,5}.

°26) If a=2i+j+4k, b=3i-j+2k and ¢ =3i+ j+4k find a.(bxc). :

13).. 14~ { } B={2 3 6}andc={2 3 7}thenver1fythatAx(B—C)=(AxB)—,(A’>§'G)’.“"



L1 BRARY

lm :
i

IV.

27)
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Usmg vector method find the area of the tnangle whose vemces are A(l 2,3),

B(ZSl)andC( 112)

Fmdthevalueofmlfa mi— 3]+4k b—l+3j+k andc 2z+]+karecoplanar»

SECTION - D

Answer any FOUR of the follo;)ving Each question czirries 5 marks ’ (4><5—20)

- 29)
30)

31)
k ’342)

33

and B(41). (
/,Flnd the Value ofk ifthe hnes o
are par,?

Prove that the pomts (4, 4) (8 2), (14 —2) and (10, —-8) are the vertlees ofasquare.
Fmd the ratlo in which the X-axis d1v1des the line - segment joining the points (7, -3)
and (5, 2) | o ‘ |

F md the equatlon of the locus of pomt which moves such that it is equxdlstant from-

~ the pomts (12) and (-2, 3)

Fmd the equatlon ofthe dicu lar bisector of the hne Jomlng the points 4 (3 -2)

/ e
i)  3x+2y+1=0and kx+2y 1=0

ii) 5x—4y+8=0and 4x+ ky+3= 0 are perpendlcular
Find the equation‘ofthe stralght line which passes through the pomt of mtersectlon of

~ thelines 3x+y~10=0 and x+7y-10= Oandparalleltothelme 4x-3y+1=0.
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